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Non—Hazardous Area Terminals 7, 8, 11, 12, 13 & 14
Un =253 V

Hazardous Area Terminals 3 with regard to 1 (Channel 1)
Uo=266V, Ib=94 mA, P,=066W, C=0 L=20

Hazardous Area Terminals 3 with regard to 2 (Channel 1)
=11V, lb=011mA, P, =003 mW, U=28V, G =0, =0
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Group | Co (UF) | Lo (mH) or Lo/Rs (UH/R)
Hazardous Area Terminals 3 with regard to 1
Inc 0.094 4.02 56
[IB* 0.73 16.09 227
A 2.42 32.19 455
| 4.27 52.81 746
Hazardous Area Terminals 3 with regard to 2
nc 100 1 000 1 000
B* 1 000 1 000 1 000
1A 1 000 1 000 1 000
| 1 000 1 000 1 000
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